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Cluster: 0107 ptr; resid: 0.29; r/c: 28/71

x.range

upstream meme PSSM #1; e=1.5e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=220

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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10830

33543

29157

37652

41856
53935

31409

54082

41878

12420

16545

18893

23639

30113

33530

38175

38769

40877

43169

43831

44335

44486
44651

45424

45846
46395

51703

9312

string −500 −400 −300 −200 −100 −1
10830−0.07
30113−0.07
46395−0.12
41878−0.15
16545−0.20
45846−0.44
12420−0.57
33543−0.58
33530−0.95

9312−1.21
41856−1.33
40877−1.63
37652−2.02
38769−2.03
44335−2.05
54082−2.50
43831−2.88
51703−3.30
44486−3.32
38175−3.60
53935−4.16
31409−4.22
29157−4.34
45424−4.59
44651−7.06
23639−7.35
43169−8.16
18893−9.77

log10(P) upstream meme1 2 log10(P.clust)=−2.81; 28 seqs; 28 uniq
c(0.5, 2.5)
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